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1. . Which piece of apparatus is used to find the mass of a stone? -

A B ‘ C D
2.
D

3. At which level of organization is the heart?

A cell

B organ

C system

D tissue
4, The diagram shows a simple food chain.

Which letter represents a producer?
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5.. The diagram shows the mmmﬁwﬁoﬁ om a mixture. |

Which process is shown in the diagram?
crystallization
distillation

evaporation

g a = »

.mE.mmos

6. H.ww &mwBB shows TWO components of blood.

ee
ge

P

What are the functions of these components?

P Q
A causes blood to clot carries oxygen
B carries oxygen produces antibodies
C | causesbloodto clot wnm_E.m. bacteria
D | produces antibodies - - .| carries oxygen

7. Which &é@,& shows a resistor?

)@’ T i I@l




8. . The diagram shows a synovial joint.

What is the function of P?

A

A

B

10. Which entry shows the link between the property and use of the B@S%

connects muscle to bone

connects bone to bone

reduces friction between the bones

connects bone to cartilage

Which reaction requires heat energy?

an endothermic reaction

an exothermic reaction

combustion of fuels

oxidation of glucose

-

metal property use
A | aluminium conducts electricity making aeroplanes
B &:BE.E.B resists corrosion making food containers
C | mild steel conducts electricity making garden tools
D | | mild steel conducts heat making car bodies
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12,

13.

14.
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Which cell takes water and mineral salts from the soil?

Which structure of the alimentary canal is matched with its function?

Structure R Function

A | anus : assimilation

B | large intestine a &mwmnou

C | mouth “ingestion
*D | stomach egestion

Which does not allow the passage of sound waves?

A

B

D

gas
liquid
solid

vVacuum

Why is this reaction a chemical change? -

magnesium + oxygen —» magnesium oxide

, anew substance has been formed

gh w,,.?.onsmmg ;

OXygen is present in the air




15. ,<<Eor part of the flower is responsible for the production of female gametes?

16. Which waste product is carried in Eowcuoo%
fibrin |

. sweat

urea

T A = »

urine
17. The drawing shows a wave.

\H/ _ N
/ N\ B D _

A‘

Q<
A 4

Which letter represents its wavelength?

W 18. Which colour change occurs when a drop of iodine solution is placed on a piece of
bread?

> . yellow to black
B yellow to _uwoéw.
O %%oiSQ.m:mo
U

yellow to red
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20.

21.

22.
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The pH of a solution is 7. What . will be its colour smmu tested with Universal

Indicator?
A blue
B green
.O purple
D red

Which structure stores urine?

Which structure is a characteristic of the red mangrove plant?

A breathing roots

B brown stem

C E.ow. roots | ,
| D salt glands ..

A boy of weight 200 N is mm&bm on a see-saw, as shown in the

gl

diagram.

o - ~ man=600N
boy =200 N .

At which labelled position must the man sit to balance the see-saw?




23.  Which process best describes maintaining a constant internal environment?
A excretion
B homeostasis
C osmoregulation
D sensitivity

24, Which substance will'be a liquid at room temperature (20°C)?

substance melting point (°C) boiling point (°C)
A -101 -38
B 34 357
C 0 100
D 114 183
25. Why is yeast used in the beer-brewing and bread-making industries?
A does not need oxygen for respiration
B feeds on sugars for respiration
C produces carbon dioxide and water by respiration
D

produces carbon dioxide and alcohol by respiration

26. The diagram shows an alveolus surrounded by blood capillaries.

from heart
/ air in and out

7 I\\ R\v rom:

vessel A

vessel D
vessel B

vessel C @

alveolus.

capillary

Which blood vessel will have the lowest oxygen content? =
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23.  Which process best describes maintaining a constant internal environment?
A excretion )
B homeostasis
C osmoregulation
D sensitivity

24. Which substance will be a liquid at room temperature (20°C)?

substance melting point (°C) boiling point (°C)
ﬂ A -101 | -38
. B 34 357
N. C : 0 100
D 114 183

25. Why is yeast used in the beer-brewing and bread-making industries?
does not need oxygen for respiration

feeds on sugars for respiration

produces carbon dioxide and water by respiration

O a = »

produces carbon dioxide and alcohol by respiration

26. The diagram shows an alveolus surrounded by blood capillaries.

from heart

) | ;.<0mmm_>,

vessel B vessel D

alveolus.

capill
vessel C priary

s.—dd.\-r hlanAd crannat _t11 1 . -
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27. Which statement best .aa.monc,om the molecules in a mmm@,

A Theyare QOmGSzmm&mmmmmm_uwwﬁrww%oi_%. .
B They are close together m&m.Bo«Em quickly.

G Hro%ﬁamﬁmcmnmbmggmum@&oﬁ%
U .

They are far apart and moving slowly.

8. Which device converts chemical energy into electrical energy?

A alternator

cell — /59?@ a,

B
C solar _wmbm._
D

spark plug

29. Which substance is biodegradable?
A aluminium foil -

glass

B
C nylon rope
D wood

30. The diagram shows the internal structure of a leaf.

T
PSS mmm.@% _
. .uwwﬂ &.‘mw .Q.Ao‘
LY

2 -

‘Which structure allows transpiration to occur?

i gy

Ry



31.

32.
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A strong magnet is used to attract pins.

Why will the pins labelled X be able to attract even more pins?
A electromagnetism

B ferromagnetism

C magnetic attraction

D magnetic induction

The diagram illustrates how light is reflected from a plané mirror.

STTTT T T

a,ﬁ_wﬁ, is angle Y?

A 200

B 30°

C 60°

D 90°




33.

34.

35.
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Answer questions 33 and 34 using information from the diagram.

A solid substance was heated using a small, constant flame. The graph shows the
temperature of the substance against the time of heating.

A
mc-—————— -—————— D
temperature/'C C
C-—————
C B
A
»
time/minutes

Which letter shows a part of the graph in which:

the solid is melting; A B C D
only liquid is present? ... . . A . .C D

John’s sandwich’ contains lettuce,-which substance-in the lettuce is John unable to
digest?

A cellulose
B glucose
C starch

D sucrose

)

it vy

e
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AnswWeT questions 33 and 34 using information from the diagram.

A solid substance was heated using a small, constant flame. The graph shows the
temperature of the substance against the time of heating.

A
100°C - —————— .
K%-ﬁn——na\d C
0Cl—————
¢ B
A
—>
time/minutes
‘Which letter shows a part of the graph in which:
the solid is melting; A B C D
33.
only liquid is present? A B C D

" Joho's Sandwich contains
35. digest?

lettuce, which substance in the Hoﬂano is John unable to
A Cellulose
B &lucose

¢ Starch - L .

D  Sucrose
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36..  What is the mass of the air in the room shown if air has a density of 1.5 kg/m3?

i

S5m

ROOM H

%

2m

A 13 kg
B 26 kg
C 150 kg

D  180kg

37. ﬁE.or vehicle has a momentum of 150 000 Nm?

15 m/s
By,

5000 kg 10 000 kg _Hmw
© @ —— ©

moSwm




39.

40.

C HO
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What is the number of neutrons in an atom that has a proton (atomic) number of 58
and a nucleon (mass) number of 1407
A58
B 82
c 10

D 198

Which molecule has only TWO covalent bonds?

A cH,

B NH

D HCl1

Why will a young, herbaceous, well-watered seedling often wilt after being
transplanted? :

A mwon..ﬁmmo of air

B shortage of leaves -

C mronm.mo of root hairs -

D shortage of salts in the soil -~
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42.
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The diagram shows the junction of three wires.

What is the amount of current and its direction as it flows through X?
A 1 A, towards the junction

B 1 A, away from the junction

O m?S&E%Eﬂ.s:omon
U

5 A, away from the junction

This is a simplified diagram illustrating the greenhouse effect.

heat from
the Sun

Surface of the Earth

Which gas in the atmosphere is mainly responsible for reflecting the heat?

carbon dioxide
nitrogen

oxygen

o B o W - - B -2

ozone

®
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4.
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The diagrams represent FOUR different particle arrangements.

o o e 00 o o mU &w
o D o
o) o) m 8 @OM o omwomumuo

A B C D

,, Which &mmBB best shows a mixture of an element and a compound?

This apparatus is used to detect the presence of water and carbon dioxide in air.

damp —p-
air
anhydrous
copper(Il)
sulphate
What results would be expected?
Results
X Y
A E:n,. _. clear
B blue cloudy
C white clear
D ‘white cloudy
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45.. When a plastic rod is rubbed with a dry cloth, the rod gains electrons from the cloth.

What is the charge on the rod and on the cloth, and the nature of the force between

them?
sign of charge sign of n_i-.ma nature of force
on the rod on the cloth exerted between them
A negative positive attractive
J B negative negative attractive
C positive positive ~ repulsive
D negative negative repulsive

46. The diagram shows a longitudinal section of the heart.

Which chambers contain oxygenated blood?
A Pand Q

B Pand S

C QandR

D Rand S .

o
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47. Food labels .give information about the composition of a product. This label on a
cereal box provides information about the amount of calories.

'Energy value
1505 kilojoules per 100 g
350 calories per 100 g

How Ezou energy would 200 g of this cereal provide?
A 700 calories
B 1155 calories
C w 505 calories

D 1 855 calories

48. The %@&..E,Bo graph is for a cyclist. |

speed (m/s)
8

T 7 . ‘ ;
0 2 3 6 & 10 12 14 16  time(s)

UznbmiEow time interval was the o%oﬂmﬁ travelling at a constant speed?

A Osto2s

B 2st06s

C 65t010s o ; ; , : ‘,

D  10stol4s




~19-

49. Element X belongs to group 4 and element Y belongs to group 7. What is the correct
formula for the compound formed by the elements X and Y?

A XY,
B XY,
C  YX,

D YX

50. Nitrogen, phosphorus and potassium are elements needed by plants and supplied in
fertilizers.

Which compound contains TWO of these oﬁo,BoEm.w
A ammonium nitrate

B ammonium phosphate

C aluminium nitrate

D potassium chlorate

i

P —
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1. - The diagrams show four cells found in the human body.

Which cell transports o_ww.m.o_: around the body?

Which food is the best source of carbohydrate?
A bread .

B butter
C _mm._m
D

wo.n_w owo.,v .

- Which period of the Periodic Table contains sodium?

A Period1.
B Peiods
O_ wmnon A
.c

Period 5

4. Which symbol shows a resistor?

S. Which letter correctly shows a food chain?

larva —» grouper - nurse shark

b, leaf —» bug —>lizard

A
B
Hﬁ .,”,,_m,ﬂwanéomu_lYHmeﬁ _
D

- WOIM —3 SParrow —m cat.
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Which element is represented by the atom shown?
argon

bromine

“chlorine

T a % »

sodium

An axvo:BoE to maa the <o_Suo ofa EB@ of Emmnn_uo was mo.h % as shown.

The diagram mrosm the level of En water v_mnﬁ.n _.E,a after Eo lump of ,Emmn._oFo was.
lowered into the cylinder, , _

,cnmo.wa
What is the volume of the E»&%%
16 cm?
20 co®

26 cm?®

T a w »

42 cm3 _
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The table shows characteristics of FOUR vertebrate animals,

vertebrates
P Q R s
has hair 7

features

.rmmmauﬁﬂm_ B v

- has %&mm_,

.,?f,\;! e

e | constant body temperatore |

Jayscggs e
Eanu»_wa&nummou“ e 7 s
w_.o%oam_é_w vy

N
N\

_-Which TWQ' <Q.,8w§am are Boman_omoq_.&mﬁﬁ |
A PamdQ |
B - m.mumw
. €. Qands

D RadS

9 Which fruitsate dispersed by asimals?




10.

11.

12.

B
. C gas
D

‘v oA w

In which state of matter do wma&ow EZ@ the most kinetic energy,
temperature? _
A _mow_n_

liquid

- water | -

ﬁw»ﬁwﬁmﬁ&u w&...wown of an m__ooﬁo,mmu.w ,
Hagmma..nm.&mnﬁa&auﬂmw to
A chemical energy

heat energy

B
'C  kinetic m:onmw,
D

sound energy

The diagram shows a typical plant cell.

Which structures would NOT be found in an animal cel1?

»

Pand S
Pand Q
QandR

Rand S

at a given
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| The number 9 émm &mﬂs
, ,éosn

Which onmmEmB causes m:ﬁ Sh:mnuwi

. A .vaQ.EB

B fungus

C mosquitos

D virus

ona Eooa o». w%mu and Emn& in m.oa of a plane BE.Q as

——— plane mirror

- Which i _mea soEn be seen in the: mirror?

.Ezn




15, obtain sand from dirty/muddy water,
S e

17.

18.

-8

FOUR methods of Separation, labelled A, B, C and D are listed.

- Use these methods to answer question numbers 15, 16 and 17.

A crystallisation

| B distillation

ekl i T Q Egcb

D menmnmﬁ _

Which method om,,wnmﬁmnou can be used to

g

tain pure water from seawater,

o

iron from a mixture of sulphur and iron?

Which name is given to a
same function?

group of similar cells working together to perform the
A o
B organism

C tissue

..D_ system



20.

21.

© a w »
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The diagram represents a transverse wave.

_.IA_BI'“
/1 N\U

What s the speed of the wave if s frequency is 2Hz?
2ms S
4mis
m.B\m : _ o IR

16 m/s

The diagram shows the. path of M:mbn ray, Q,N,,Raa.o»on from.a Em:n, mirror.

W

.M

S 1
|

|

|

|

o\ |

(50

What is the angle of reflection?

A 40°

B 50°

s

D 90°




M. 23 alters En_gogﬁ,_om_aom‘gmo%_
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Use the diagram of the eye to answer questions 22 and 23.

Which structure
22. contains light-sensitive cells,
24, Five drops of soap solution were added to

0 equal volumes of different samples of water .
in FOUR test tubes. The test tubes were shaken and the results obtained shown.

Which test tube contains the softest water sample?

25. © What does power measure?
A the force which produces motion
B . the rate of change of energy

C the rate of change of BanuEE

M total work done
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26..  The diagram Trepresents an electric: circuit, .

Which Iabelled &Bﬁ&mﬁ.@:mgm _,o._nna.,ou,m Enocmr the circuit?

A P

B Q
¢ ®r
b s

27.  Which of the following is zoagé%_@., |
A ‘brass

C copper

D

steel

28.  Magnesium + oxygen —» magnesjum oxide

35\ is this reaction o_ummmmom as a chemical change?
r ’ A anew substance rwm been formed
B all _.omomowm wn&zcm light -

oXxygen is Ewmc_,: in the n:. L |

C
D thereisno change in mass
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29. The diagram shows a developing foetus.

foetus

Which TWO substances which pass from structure P to structure Q?

A carbon dioxide and nutrients
B carbon dioxide and urea
C nutrients and oxygen

D urea-and oxygen

A,
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30. . The &m%.mB shows water E&@o&ow Passing into a sugar solution.

pure water .
® ® & o o

w
=
8
ol
=
&
=]

0000 %0 ¢ 0®0e0%

O el0e O

®
®
®
@

e Qo

sugar molecule

' T ' '0 -o (,70 O

-water molecule

.mnuaomé@bogomg“
‘membrane :

-} OOO .Oo O Q"Oo‘Ooé

0200 Os 00060,

© What is the process shown kinown as?

0osmosis

o a = »
g..
:

 transpiration stream

31.  What renewable energy source is most easily ocﬁnmc_o %RE.&E%

A biomass B ‘
w | , mocE_a_.Ba A
C hydro -

D solar

W
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32.

34.

A Royal Bahamas Defence Force Marine
sky and 5 s later he hears the sound blast.

~14-

sees the flare from a distress rocket in the

How far is the distress rocket from Eo marine?

A

B
C

D

(speed of sound in air 330 m/s)

66 m
- 325m

825 m

1650 m

Which TWO elements will have similar chemical properties?

A

B

C

D

aluminium and silicon

calcium and strontium

fluorine and argon -

oxygen and chlorine

Which cells destroy invading bacteria in the body?

(= B o YN - - R S

amoebocytes

phagocytes

938_534.8
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| 36. mazw_ masses of _g.y salts,

. .. solutions were recorded in the table,

35..

| What would be Eo_. memﬂ. of mo<on_=w the Eamo_m at X?
A g;m&uoﬂ‘_coﬁouom o
B gogoﬂ.goxﬁanm
c B%o_o__.amﬁoﬂ, contract

D A Bamo_o —v ¢annot _.o._mx .

- Wwater. The initial temperatures of

| salt | initial _»_aiwenua-d of water/°C

final temperatire of solution"C
X sy |

302
209

Y 214

Which statement about salts X and Y is true?

A dissolving of both salt X and .,,muw Y is ..auoﬁnesmo.

C a w




37.

38.
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A suitcase was lifted with a force of 250 N.

The work done was 1250 J. What
distance was the suitcase lifted?

250 N
A

2 ,,,_ _..,»_”N_.,m..wm ,

A 25m |
B 5m
C 125m

D 50 m

éov,omooﬂ causes a msgm pool to appear Bona shallow than = really is?
A | dispersion |
B diffraction
n n_om,ocmou
U

' refraction
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40.
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- The diagram shows mumwo:m ouogm.o E»: alveolus. At which ___mcou& point A, B,

C or D is diffusion of most carbon dioxide likely to occur?

CA

s

- The _&mﬁg 3@8%5 the oaanonﬁm ,om go ,Emouoi »SBm X mbn Y.

X Ty

What is the formula of the compound formed on bonding? |

XY
XY,

XY

S a v »

XY,




) 41. The &mmam.B shows part of the spinal cord, a fingertip and a muscle of the arm.
¥ .

1>6—>5->4->3
,NIVuI'GT*mIVA

3>4—>6—>2-535

T a = »

a,IYmIY,leHIVN.

42. Which ouﬁmoﬁnmaom mmwﬁ.&o Eo
i meE@Em glass?

|
vw { ﬂu (+) convex lens
N

images formed by convex-lens when used in a

?

i The image is magnified

A real and upright.

B ma& and inverted.

C virtual and upright.

D virtual and inverted. c



|

A

B
C
D

Co,

HO
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46.

T A

47.
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The diagrams show a variety of activities.

Which diagram does not show ioy.w being done?

Carbon dioxide is formed during the complete combustion of a fuel. Carbon

+ monoxide is formed during the incomplete combustion of a fuel.

Which statement is true for _uoE of these gases?

A both gases are toxic to animals

=

carbon monoxide is an element and carbon dioxide is a compound
neither compound will burn in air

carbon &oﬁnom:amm% precipitate when bubbled into limewater, but

R I LN g L e
: o&.uo:__Bo:oﬁmo_ does not

The diagram muoémwbnno». the digestive system.

Which structure wnon:nmm a substance that lowers Eoon glucose after a meal?




